e The YcoQuchioac Vegwe ¥l > Theorem (6. 7) states that if
two triangles are _ <) il , then the __ Voimed are
proportional to the measures of correspondlng sxdes.

Ex1 - If APEN~AGUI, find the perimeter of AGUI.
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o If two trlangles are similar, then measures of the corresponding
Alctvdes (Thm. 6.8), i . > (Thm. 6.9),
and (Thm. 6. 10) are Do tenag/l  tothe
1

measures of the corresponding sides.

EX 2 - Assume the triangles below are similar.
a) Find OE. b) Find VN.
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Ex 3 - IfAT bisects ./ CAN, AN =64 cm, NT =40 cm, and CT = 72 cm, find AC.




